	[image: image1.png]


Hall A Work Procedure
	TITLE:     AMI upgrade Procedure

	
	ISSUING AUTHORITY
	AUTHOR
	DATE
	DOCUMENT ID
	Page 1 of 1

	
	Hall A
	Fansler
	12/19/05
	A-08-008-P
	



Procedure for Field upgrade 

of AN Ami model 184-6 series instrument 

FOR Current Loop or Recorder output option
WARNING: This procedure is to be performed only by trained service personnel familiar with electrical safety precautions, energized electrical safety procedures, and the safe handling of static sensitive devices.  Do not perform any operations on any AMI equipment with the cover removed unless qualified to do so.

CAUTION: The following procedure should be performed at an ESD safe workstation. Personnel performing the procedure should wear a properly grounded wrist strap at all times.

NOTE: In 2004, AMI transitioned from hex drive to Torx drive screws. #8 hex screws use a 3/32” hex driver. #8 Torx screws use a T15 driver. For #6 hex screws, use a 5/64” hex driver. For #6 Torx screws, use a T10 driver.
1) Ensure the instrument is de-energized by disconnecting the line cord from the power source.

2) Remove 2 each #8 screws from each side of the instrument.

3) Remove 4 each #6 screws from the rear panel.

4) Lift the cover off of the instrument.

NOTE: Refer to AMI Drawing No. 98-18X-2436 for the following steps.

3) Locate the socket for Integrated Circuit U21 on the printed circuit board.
4) Install the supplied AD420AN in this socket.
5) Locate the socket for Integrated Circuit U12 on the printed circuit board.
6) Install the supplied ICL7660SCPA in this socket.
NOTE: Perform Steps 7-9 for Recorder Output Option only. For Current Loop Option Skip to Step 10.
7) Locate the socket for Integrated Circuit U2 on the printed circuit board.
8) Install the supplied LT1077CN8 in this socket.
9) Using a soldering iron, short solder blob V OUTPUT by bridging solder across the two pads. For Revision 12 or higher PCB’s, place a shorting jumper across the header V OUTPUT.
10) Install the instrument cover and replace the #8 screws in the sides and the #6 screws in the rear panel (refer to steps 2 and 3 of this procedure). 
11) Energize the instrument and verify proper operation before returning instrument to service. Refer to Instrument Operating Manual for connector J2 pin-out.

If you have any questions or comments, please contact an AMI Representative by calling 865‑482‑1056 or send a fax to 865-482-5472.  A Technical Support Representative can also be reached via email at: support@americanmagnetics.com.


This document is controlled as an on line file.  It may be printed but the print copy is not a controlled document.  It is the user’s responsibility to ensure that the document is the same revision as the current on line file.  This copy was printed on 4/25/2008.

